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MATHEMATICS 0580/41

Paper 4 (Extended) October/November 2021

 2 hours 30 minutes

You must answer on the question paper.

You will need: Geometrical instruments

INSTRUCTIONS
 ● Answer all questions.
 ● Use a black or dark blue pen. You may use an HB pencil for any diagrams or graphs.
 ● Write your name, centre number and candidate number in the boxes at the top of the page.
 ● Write your answer to each question in the space provided.
 ● Do not use an erasable pen or correction fluid.
 ● Do not write on any bar codes.
 ● You should use a calculator where appropriate.
 ● You may use tracing paper.
 ● You must show all necessary working clearly.
 ● Give non-exact numerical answers correct to 3 significant figures, or 1 decimal place for angles in 

degrees, unless a different level of accuracy is specified in the question.
 ● For r, use either your calculator value or 3.142.

INFORMATION
 ● The total mark for this paper is 130.
 ● The number of marks for each question or part question is shown in brackets [ ].

















9

0580/41/O/N/21© UCLES 2021 [Turn over

 (c) Solve   x x x x4 17 93 2 3+ - = -  .
  You must show all your working and give your answers correct to 2 decimal places.

x = ........................ or x = ........................ [5]
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5 (a)
D

A

B

O

C

35°

124°

NOT TO
SCALE

  A, B, C and D are points on a circle, centre O.
  Angle COD = 124° and angle BCO = 35°.

  (i) Work out angle CBD.
   Give a geometrical reason for your answer.

Angle CBD = ............................. because  ..........................................................................

 .............................................................................................................................................  [2]

  (ii) Work out angle BAD.
   Give a geometrical reason for each step of your working.

Angle BAD = ............................. because  ..........................................................................

 .............................................................................................................................................

 .............................................................................................................................................  [4]
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 (b)
R

S

P

O

Q

42°

NOT TO
SCALE

5.9 cm

  P, Q, R and S are points on a circle, centre O.
  QS is a diameter.
  Angle PRS = 42° and PQ = 5.9 cm.

  Calculate the circumference of the circle.

  ............................................ cm [5]
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6 The table shows some values for   y x x2
32= -  , x 0! , given correct to 1 decimal place.

x -3 -2 -1 -0.5 -0.2 0.2 0.5 1 2 3

y 2.5 3.3 7.5 -7.5 -2.8 -0.5 3.3

 (a) (i) Complete the table. [3]

  (ii) On the grid, draw the graph of   y x x2
32= -    for .x3 0 2� �- -  and . x0 2 3� � .

x

y

8

6

4

2

3

5

7

9

10

1

0

– 4

– 2

– 1

– 3

– 5

– 6

– 7

– 8

– 1 10.5 1.5 2.52 3– 2– 2.5 – 1.5 – 0.5– 3

 [5]



13

0580/41/O/N/21© UCLES 2021 [Turn over

 (b) By drawing a suitable straight line on the grid, solve the equation   x x x�
�

�
�� �� - = -  

  for .x3 0 2� �- -  and . x0 2 3� � .

x = ........................ or x = ........................ [4]

 (c) The solutions to the equation   x x x�
�

�
�� �� - = -    are also the solutions to an equation of the

  form   �� �� �� �� �� �+ + - =    where a, b and c are integers.

  Find the values of a, b and c.

 a =  ................................................

 b =  ................................................

 c =  ................................................  [4]
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9 (a) 

( )cmx 3+

x cm
NOT TO
SCALE

  This rectangle has perimeter 20 cm.

  Find the value of x.

 x =  ................................................  [3]

 (b)

NOT TO
SCALE

y°

20°

M

  This rhombus has perimeter 20 cm and angle y is obtuse.
  M is the midpoint of one of the sides.

  Find the value of y.

 y =  ................................................  [5]
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